RECITATION 12

Ch 13



*9 ssM www We want to position a space probe along a line
that extends directly toward the Sun 1n order to monitor solar flares.
How far from Earth’s center 1s the point on the line where the Sun’s
gravitational pull on the probe balances Earth’s pull?



*24  'Two concentric spherical shells
with uniformly distributed masses
M, and M, are situated as shown In
Fig. 13-40. Find the magnitude of the
net gravitational force on a particle
of mass m1, due to the shells, when the
particle 1s located at radial distance

(a) a,(b) b,and (c) c.

M,




*26 Consider a pulsar, a collapsed star of extremely high density.
with a mass M equal to that of the Sun (1.98 X 10%° kg), a radius R
of only 12 km, and a rotational period 7 of 0.041 s. By what per-
centage does the free-fall acceleration g differ from the gravita-
tional acceleration a, at the equator of this spherical star?

*47 ssMm WWW The Sun, which is 2.2 X 10?* m from the center
of the Milky Way galaxy, revolves around that center once every
2.5 X 108 years. Assuming each star in the Galaxy has a mass equal
to the Sun’s mass of 2.0 X 10*Y kg, the stars are distributed uni-
formly 1n a sphere about the galactic center, and the Sun 1s at the
edge of that sphere, estimate the number of stars in the Galaxy.



